

11/25

کلاس دهم بر A

تکلیف شماره 5

بارسا سمعی

1) $y = \sqrt{x f(x)}$ $\xrightarrow{\text{ریشه ها}}$ $x \xrightarrow{\text{ریشه ها}} 0$ $f(x) \xrightarrow{\text{ریشه ها}} \begin{matrix} 5 \\ 2 \\ -5 \end{matrix} \Rightarrow x f(x) \geq 0 \Rightarrow \frac{-4}{-1} + \frac{-5}{-1} + \frac{2}{-1} + \frac{5}{-1} \Rightarrow D_f = [-5, 0] \cup [2, 5]$

2) $y = \sqrt{\frac{-x}{f(x)}} \Rightarrow \frac{-x}{f(x)} \geq 0 \Rightarrow f(x) \neq 0 \Rightarrow \begin{matrix} -x < 0 \\ f(x) = \{-2, 0, 2, 5\} \end{matrix}$
 $\Rightarrow \frac{-4}{-1} + \frac{-5}{-1} + \frac{2}{-1} + \frac{5}{-1} \Rightarrow D_f = (-\infty, 0) \cup (0, 2)$
 $D_f = -2, -1, 1 \rightarrow$ عدد صحیح

3) $f(x) - 2f(x) = x^2 - 3x + 4 \xrightarrow{x=2} f(2) - 2f(2) = 2^2 - 4 + 4 = 2 \Rightarrow -f(2) = 2 \Rightarrow f(2) = -2$
 $f(-2) \xrightarrow{x=-2} f(-2) = 2f(2) = (-2)^2 + 4 + 4 \Rightarrow f(-2) - 2f(-2) = 14 \Rightarrow f(-2) = 14$

4) $f(f(5)) + f(f(1)) \xrightarrow{f(5)+f(1)=7} f(7) + f(5) = 7 + 2 = 9$
 $5 - \sqrt{5+4} = 2 \quad 2(1) + 3 = 5$
 $5 - 3 = 2$

5) $x=1 \Rightarrow \frac{f(0)}{x} - f(1) = 1 \Rightarrow f(1) = -9$
 $0, 2, 5$

~~$f(3) = a - b + 2 = -9$~~
 $f(1) = a - b + 2 = -9$
 $a - b = -11$

6) $f(x) = \frac{x^2 + 4x + 4}{x^2 + 4x + 4} = \frac{(x+2)^2 + 1}{(x+2)^2 + 4}$
 $f(\sqrt{3}-2) = \frac{(\sqrt{3}-2+2)^2 + 1}{(\sqrt{3}-2+2)^2 + 4} = \frac{3+1}{3+4} = \frac{4}{7} = \frac{2}{3}$

7) $f(x - \frac{1}{x}) = \frac{x^4 + 1}{x^4} = \frac{x^4}{x^4} + \frac{1}{x^4} = x^0 + \frac{1}{x^4} = (x - \frac{1}{x})^4 + 2$
 $-3 = x - \frac{1}{x} \Rightarrow f(-3) = (-3)^4 + 2 = 81 + 2 = 83$

8) $g(x) = \sqrt{9-x^2} \Rightarrow 9-x^2 \geq 0 \Rightarrow 9 \geq x^2 \Rightarrow 3 \geq |x| \Rightarrow x \in [-3, 3] = D_g$
 $D_f \cap D_g = \{1, 0, 0\}$
الف) $\frac{f}{g} = \left\{ (x, \frac{2}{\sqrt{3}}), (1, \frac{2}{\sqrt{3}}), (0, \frac{2}{\sqrt{3}}) \right\} \Rightarrow \left\{ (2, 0), (1, \sqrt{3}), (0, \frac{2}{\sqrt{3}}) \right\}$
ب) $\frac{g}{f} = \left\{ (2, \frac{\sqrt{3}}{2}), (1, \frac{\sqrt{3}}{2}), (0, \frac{2}{\sqrt{3}}) \right\} \Rightarrow \left\{ (1, \frac{1}{\sqrt{3}}), (0, \frac{2}{\sqrt{3}}) \right\}$
د =

$$\text{الف) } 2f(x) = \{(2, 2), (3, 1), (-5, 4), (1, -4)\}$$

$$\text{ب) } f(x)+1 = \{(2, 3), (3, 2), (-5, 5), (1, -1)\}$$

$$\text{ج) } 3f(x)+1 = \{(2, 7), (3, 4), (-5, 13), (1, 13)\}$$

$$\text{د) } f(2x) = \{(1, 1), (\frac{3}{2}, 4), (-\frac{5}{2}, 2), (\frac{1}{2}, -2)\}$$

$$D_f \cap D_g = \{1, 2, 3\}$$

$$\text{الف) } f-g = \{(1, 4), (2, 2), (3, 2)\}$$

$$\text{ب) } \frac{2f}{g} = \{(1, \frac{4}{5}), (2, \frac{4}{1}), (3, \frac{2}{-1})\} \Rightarrow \{(2, 4), (3, -2)\}$$